DAILY HOMEWORK FOR CLASS -4
16/05/2020

WRITE:

ENG LANG:-
1- Write the definition of neuter gender. Give examples.
2- Draw and colour any 4 neuter gender.
*********************CHAPTER_NOUN_ GENDER — VEDIO_ SESSION _2 ) *kkkkkkkkkkkhkkkkkkkk

ENG LIT:-
Frame sentences with- snatched, lie, glad, wig.

SCIENCE:-
Give one word for the following-
1- Plant that have chlorophyll in their leaves.
2- A chain that show how living being obtain food.
3- Animal breath in this gas release by the plants.
4- Majority of plants are of this colour .
5- Plant get most of this gas from animals who breath it out.
Fikkkkkkkkkkkkk THE GREEN PLANTS PRODUCERS OF FOOD —VIDEQO- PART-4***kkkkkitkkdkk

MATHS:- Solve the question no: 6 picture given below in HW.
*********************VIDEO_ NUMBER SYSTEM _SESSION_7 kkkkkkkkkkkkkkkhkkkkkk

S.ST:-
True or false-
1- There are 28 states in India.
2- The southern plateau is very fertile.
3- The length of India is 3200.
4- New Delhi is the capital of India.
Tk \[IDEO - SESSION-3 & 4 — POLITICAL FEATURES OF INDIA) ki

COMPUTER- Write the full form of-

1-CPU- CENTRAL PROCESSING UNIT

2- ALU- ARITHMATIC AND LOGIC UNIT

3- CU- CONTROL UNIT

4-MU- MEMORY UNIT

5- USB- UNIVERSAL SERIAL BUS

( Write in register)

*kkkkkkkkkkkkkkkhkkkhkk (VIDEO_ SESS'ON_ 1&2 )*********************
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DRAWING ACTIVITY- Draw my lovely family (On world family day)



LEARN:

ENGLISH:-

LANG: Definition of neuter gender with examples.
LIT: all word Question /Answer of the entire lesson

SCIENCE: Written work

MATHS- Learn the rules for writing numerals in expanded form.
SST: Written work.

COMP: Written work
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Skip Counting

Suppose, stating with a goven numbes, we wrile a sequence of numbers wath a fixed gap between two
successrve numbers, then such a counting is known 25 sho countag

Counting by twas means there 5 2 gao of 2 in every two successive numbers

Counting by tens means there = a gap af 10 i every two successive numbers, and so on.

Example 3: Counting by fives write numbers from 26819 to 26844,

Solution The required numbers are:

26815, 26824 26829, 76834, 76819, 26844,

m Exercise 4

1. Find the place value of the underlined digit in each of the following numerals.

(a) 10791 (b) 23076 (c) 46307 (d) 2355941

(¢) 837.209 () 52.47.296 (8) 35.61.909 (h) 2.75.600
2. Find the place value of each of the digits in the following numersls.

(3) 93217 (b) 61450 (€) 2.13,504 (d) 38.60.429

3. Find the difference between the plice value and face value of 6 In 4.61,503.

4. Find the ddlerence between the place values of 3 and 7 in the numeral 1,03 476,

5. Find the difference between the place values of 8 in 48,96,500 and 15,80,776.

6. Write each of the lollowing numbers in expanded form.
(a) 24308 (b) 123527 () 3.09.057
(d) 429,010 () 1607500 (f) 8060715

7. Write each of the following in short form.
{2) 10000+3000+500+-70+E=
() 30000+ 700 «B0+4=
(c) SO0 +40+3=
(d) 20000+ 1=
{e) 200000+ 3000+ 100+3=
{1} 3000000 + 60,000 + 300 =
(2) S0000+3000+7=

B. Write the successor of each of the following numbers.

(2) 13579 (b) 23.009 (¢) 29.099 (d) 34999

() 451399 () 28.67.009 (g) 35.59.999 (h) 99.99.299
9. Write the predecessor of each of the following numbers.

{2) 39000 (b) 43.700 (¢) 9,100 (d) 1.20.000

(¢) 405,000 (f) 2860100 (g) 6631700 (h) 6B8.10,000



